E = (A#&)
ZuES [3217 & |EBERAEEBER (T03)
BAEHIRAE | B B [TREBREAEET SBF (HEHN)

AfLBITE SF4FE10H268 1385305

AL CGRTE) 481X, AFLECEB NS AL GRIE) 04E
SEICHZEEEDI07D101ZHLET S
BEEMELEET, ZRELOALBEHETH S, 23, 650, 000F4
h 1 @ h 2 @ = 3

HAXES " " %ﬁ%@
MLtz 21,700, 000M
MEBRBZEV 22— KREEXRR 22,800, 000M
MEILAY 21,823,000M
ERIEMN REREXRA 21,560, 000M
Whoa4I% 21,700, 000H
FHITOM BHEEERR 22,050, 000M
= 38 R HE R 22,000, 000H
ELLZBEER KEXE 21,750, 000H
WeEEE 22,500, 000M
BERIEMH 21,500, 000H

% A

BE+IHE 21,800, 000H




